addaayi

All India Maha Mock UPTET Paper-II (Mathematics and Science) 15-Jan-2022

(Hindi)

Q1. Ruferfaa # & Fi-EY YT aregraedT it fererwdar 981 82
(a) ATHTISTR AT ¥ et

(b) aTfee ST TeheTq T

(c) THTHTAL &

CRERIEIGE IR REETL]

Q2. Mwferfeaa & & a7 i F I § 97 82
(a) SETTrsfier ZEET ST He =l ThRaT

(b) SITgE = s

(c) 9 3T IcaTEa A=l

(d) T=ATHF T | = A1 AT AT ThdT 2

Q3. oI =T &l TATAT FHLA ATAT STTERTH AATAT 8
(a) RFrTiRaT

(b) fewarfaraT

(c) feeafRm

(d) =t

Q4. Rt & & fohae agl & HAATHTCHE [ARTH o AT ART-3TAT FLUI ol Tg AT hl 872
GIERIE

(b) Frerart

(c) i

(d) FFT

Q5. T TTAATLITeAT IgT a8 AT & foreet 1Q ThiT graT &
(a) 110 5 ¥

(b) 70 =T THAY ATAH

(c) 100 =T T AferF

(d) 140 a7 T Afd=®

Q6. ST U T9reren WTHT i FeAT | e HiddT AT g, AT g HH FT AT FX @1 8.
(a) AT T TTAT IATH 6T FAT FRrm=n

(b) BT T TEAT 3 foraaT BT

(c) BTAT T eataat F gRi=a F0

(d) fevert=i=ri =7 ereat &7 qH=AAT =T
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Q7. SATTAF AT o I H FHATIEad | & FlT A7 FHI9 Tl 57
(a) TH ATEATAH FHeAT H AR A1 (AT ST THa T &

(b) FE SITAALT T TTATET FXA | TaH =T FIH FLdAT &

(c) Tg A< AT & & TATAT &

(d) =g A< e | FF T9T §

Q8. STISIT STH XA o o7 Us AigdAT T AU ag &l Ia o GHTATE &l 6 AT I a9 A= qig THA]
ST HhT 8 -

(a) FEATHS frgia

(b) Tafora srRfEasRaret 1 frgia

(c) g gTuTeRs fRrgid

(d) TaTHRAT STEdl 1 gt

Q9. SATAHAT T TATALIT T L & U L
A. St

B. 0%

C. TgahTr

(a) FF A

(b) Fa<T B

(c) Fa C

(d) 7 vt

Q10. Frferfaa ® & Fraer AT 3 @t &1 Frgia foam om?
(a) ATARTIERT

OEIBAEEIE

CEICEER

(d) stsITEw HTEAT

Q11. THITST T W&aTd g T T@-HinaTcds ag |9 Fied § |7y 3| a8 =6 Aeqqar &7 97 Hafoiaa § &
TR T 10T T & 872

(a) FTET - ARTHATHS Teh T STAHAT

(b) 3F TIT A qh I FHI

(c) ARETT FHiedd FHgr

(d) == T sraREa T

Ql2. _ HIATIG g, IOH & TUF § 45 TRl & &6 gId gl SATh &l had Uk TTAHAT 0l SATHAT &
S TRTTAT erfarer SReaqet g

(a) TreTTE

(b) FTeeHHT TATEIEeaT T

(c) FeThrE ave

(d) FTTRITAT AATASATIAE LA
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Q13. STISTATEAT o T HTHH e T STTNT HLd 8, S (o6 ST AT, =0T A7 SATR1 6 el ST T9eqTaha
IETY B B

(a) et o Te e

ORIEIEEEREIE]

(c) SAThead TLreToT

(d) SYLE § & FI Aal

Q14. sredrs (forear =7 srfershe) T fohe &7 & T8d 6 | 14 T & ag( &I 8T aa (Lo (a7 ferdt g2
(a) &5
(b) 4T 4
(c)gmm 13
(d) gmT 3

Q15. FeTaT-1TemTH T Ta® TAT a<iaT Mwferfed § & 9 a7 87
EOREEELERERIEERIET]

(b) T T AL

(c) ATHIAT T TET AIEHT ATE HTAT

G EEEBUIEIEEIEE:ECIETRCIE]

Q16. U= farferat w1 et faw 0 19 a2 BT g7 #if T2 AfHe et &1 g w77 3w #=9its
(a) T 3T ANTT [ STAT FT AT g [STvgid T T oAAT | SAfereh AfTT T 2|

(b) rferTT T 38 & AT % I 97 1A 2l

(c) T8 TTAHTL & I HIHT T FT THAT B

(d) fereror-srfenTe wiwhar & FAfear it Fox1 9TdF g

Q17. BTAT & = ATLTUTHS HHS & 36 AT H qIRE T HI AAEATE AT WA A g
(a) FTATE TLT&ATy

(b) TZATE 3T HaT]

(c) sraafRraTd

(d) TTEIETH Hfed e

Q18. gt & o #fie=T qiewer grar g S

(a) HEAT HTHTGE T & TEEF 2l

(b) AT T T T T FLATAT JTAT 2

(c) RFhrae T sTu fRedT & STTHaRTLT SEq ol STrat &l
(d) & s &9 YT grd 2|

Q19. 7g @ % AT T BT Tl T Tl AT TS I AN q& o (70 Ty F:X TG &, Ueh (2067 97, F0, F5 6
& H Hehd T&TH FLd T HOT AT | T AT o (HGIT 6 ATATE, T9re7eh il Tg T goT

(a) BT F &= TTET 6T TR FHT FHTLT I9GT 2|

(b) TSR HT ITRAT | STAEA g

(c) Tt =1 aTfeET = forw Ifa FAm

(d) TR & forT Us 7= o €9 § F7F F2
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Q20. RFATHTAT & TET Tg 1 =l TgAT [oheleh GIT a0l SIT el [ 872

(a) ST Te ST foraw = Fierer &1 fEE)

(b) SIS IF-FH T THETIAT T T FLA hl IThT SAHAT Tl ATHAT FHLAT|
(c) 3T ATHTIST T AT IAH G FHT TdqT AT

(d) AT T = o JTw )

Q21.TF AT hivad HeAT g gidl g ToraH

(a) Torersh gl & AR Fl HaIT e o oI [TERTe ¥ &2 T ITART HLAT g
(b) T9rereh AT g 3T AR aFT 0l STELAl Hl I FHaT gl

(c) Toreres qTEqEaa HT ITANRT SATH o THATT S 6 &9 § FLal gl

(d) Torerer gl T ST AT o ST TL ST FLAT g

Q22. A< TEAT & dg-ql5 & HEIT & ATHAN HHATAET § | FHIA-HT g T 3d- TF FqTaATA HT T
et qafod I 82

Zaforsl® % T US-Fa GhiAe ST

(a) ATHTS - FAwT

(b) AT EF-FEd T - T

(c) T - e

(d) Z2T-THFS eI

Q23. e AT & srferaTe srferfa=m (2016) F srqaTe, Faferfad & & 3 ors3 &7 TR FeAT 3t 872
(a) T SrerHaT aTet I

(b) TURT AT ATAT BT

(c) H= B

(COREETILEEIE]

Q24. ST TS o AT SfT=TRF Hiharca sraeaT § ag
(a) HETera, At Sf¥ AT A1 AT Thal

(b) ferae T I ehTcas & § o7 T L& H2

(c) FTeA A -TATHATHS Teh 3T TEqTah =T Fed § 47 g

(d) F= & 59 g Y o= & saaa+dia gl

Q25. ke =ATh & HIAT IT AAT-WIA IO T TIAefer TU5T 8 ST TATa<0r § 36 ATZATT THTATST Hl
gt Fwar g1 € 1 afvamemd

(a) e

(b) TH WIS

OEIEEREIERIC

(d) 5T £ SHTer
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Q26. S Tt =fxn it e Rl % am & srfenm S&e " o gt Rafa # J29i= &7 yarfaq #ear g, ar
IH FETATAT S

(a) =

(b) =gfT

(c) SATENTH gEaTa<or

(d) St A

Q27. If& F F-smamT forgia &1 qiaure® g
(a) Fe

OECEIEL]

(c) e

(d) fa=

Q28. MHferied ® & fohed T Fie o fory F2reror o forw a9 e SIS e T STANRT [T STaT 872
(a) AT

(b) ST

(C)W

G EIEER

Q29. ST FEAT H U AT FHAT =e sieh UTH FAT &, qg ATLNLH &9 § AT Fgd e g e 39 o190
BTTeh SATHTT FeAT | A il ToIT (el

(a) A= T AATATH (AT F 3T FTEF FTH Fed ol A& Bl

(b) FEF FI ATATH TAHTH H FIH FLA @l T&Lq Bl

(c) TT= T FTHTHorF AT & T Fd il T ¢

(d) ST= T qTIT T | T T sl TEd 2|

Q30. et ¥ & s aryTicrs =a1aTe 2909 UT A fae aof foam?

(a) ATITTCERT

(b) fEFmT

(c) ==t

CVRRRIE

Directions (31-50): F=forfaa wofi 1 eqm @ 920 ST T & S9O¥ & & forw 3fa @weT &1 =794
Frform

Q31. ‘H faT & forw == a7 @1 §’ 39 ATHT § il d7 FlLeh 57
B EIEEaUEIET

(b) ATTETT FTEF

OEEEEIRED

(d) H9ST FTh
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Q32. ‘Ryer sz ® Hi €Y /(e 872
(a) o e

(b) Ffe fer

(c) =roT Hfer

(d) == &fer

Q33. HETHTA Ua HEH U+ | TH a9 | FAT &1 i °7 &7 g7
B EZEIEEKEI
ORIEEIEEXEIL
(c) SATRATHF T

(d) FgzaT=H

Q34./TFor 9Tex w7 Gy fF=uE 8-
(a) @9 + r&qT

(b) &= + ST

(c) T + T&0T

(d) =8 & FT< TE

Q35. a8 FId g ST 1T TST| H AT § HAATH &l &l 9T A4S 872
OEIBEREIEERCRIE

(b) HEEATH® TAATH

CIEEREIEERELIE

(d) T=waT=F qaATH

Q36. VW | § TG 9T58 T AT i 510
(a) =z
(b) It

() 1E
(d) %t

Q37. TATATE’ H FId €T TH gl
BERERIGIEK:E ]

(b) TeTL=T HHTH

(c) fa &=

(d) g5 quT

Q38. ‘H ST § ol TFaIY eI 3=y Al ad’ SHH AT & I dT 9g 872
(a) 9Lt ATHT

(b) &I aTFT

(c) Tatara arer

(d) Z7H & FTE TN
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Q39. ‘siggTe et Hferd = 872

(a) Forer 2T & srgtiorsT ff B s

(b) ST 9=t ST 7 7 =

(c) TorelT a7 AT FAT FT TRT-AET FT FogAT
GECRIEICERELZ-Ep]

Q40. 77 & & e 9153 T Aq+T A[F 872
BELRIEIE

(b) srRE=T

(c) ATHT

(d) ST

Q41.FHferfed ® & 7¢[g AT T 94 HITo(T)
(a) 3T T = B

(b) AT Z9TAT | THTA 2

(c) T T | Hidhd T

(d) T FEAT FT FATTH 1A 2

Q42. THT I<F ST TLURRIT 81’ T8 ATHATLT % (o0 UF 9153 &I FA i o7
(a) FATRHAT

(b) sFrfr

(c) srAfa

CEEIE

Q43. g & He AT qgray & 2 F = f<u w fawedi § g =4+ Hifsm)
(a) e FHEAT

(b) &5 ST

(c) ToAT AT

(d) FTer FETET

Q44. ‘T T T it fafh 82
(a) el

(b) T

GEIEEa

(d) FvraT

Q45. e # | fw ersa # e 1 94T gar 87
(a) HETX
(b) H=x

(c) gt

(d) T
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Q46. TeI famed &1 Fase Mwforfaa ar & f=w v &t qia i)
Hr AT Agg S wem

(a) e

(b) =FaT

(c) 2=t

(d) 3=t

Q47. 7Y e T |1y fo=uE 87
(a) oY : + &R
(b) TET9T + FT
(c) T : + &Y
(d) T + FT

Q48. 7% o & o ore3 ® ‘17 U gl 872
EELSIG)

OEGRIES

(c) F=rHT

(d) sTTET

Q49. 7% & & 7¢[F AT T FIF o[
(a) Afaraeaar

(b) arafafer

(c) Fgartvit

(d) ®=T

Q50. ‘T o152 | I & |ier g2
(a) 7T Hfer

(b) af wfer

OERUESIE]

(d) e =fer

Q51.3E FIF & AT & ST TeT H TIH 1T &, T4 TeT | 5! -
(a) BT aT=

OEESEIER]

OEREEIED]

(d) FHaT =

Q52.3H fafer | 7 & forer fereqor =1 o e & -
(a) SETELOT 7 fH=w #iT &%

(b) STHTT & AT T AT

(c) FI¥ & ST T 3

(d) &7 & T Fi¥ AT
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Q53.9THT SATERTH % FHTL I & -
(a) Ao s

(b) THTOT

() ATHT FT9TT

(d) 3T Tt

Q54.T2w=T ATIT | T FT HEAT BT ¢ -
(a) 11
(b) 12
(c) 13
(d) 14

Q55.9Te T ToFE FTITE & IAqT F0dT g 1 I F97 IZAT 8-

(a) AR A=A
OEESEIER]
(c) I&qTaAT

(d) TISTRTOr

Q56. et T =7 Heer T T grav @ -
(a) TS HIAT

OEENEICE]

GEELEINE

(d) SURI<E & T FIs ARl

Q57. 9% & FI9 9T HL=AT HI.&T ¢ -
(a) AT T &9

(b) T =7

(c) FETad &7

(d)%rmﬁ

Q58. ATH TATAH HI | AT HadT g -
(a) 9T T=IH

(b) T=T

(c) Foram

(d) ==r=T

Q59.5FATHF g d | fohe 9¥ a1t fTeAT STav ¢ -
BEIEIEIRERICIEE]

(b) AT

CRIEIEAEEIE

(d) 3T Tt
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Q60. TF THTALAT FHeAT A I AT 2 AT freqor % Rrgiat  wfager -
(a) ZATHTOT o I @ & agi FT AT &R STt g

(b) arg TR | ITH ATHT &1 LU HLd gU ATHT TN & HIH I Tl &
() ATHT AT | TZHT AT ahl AT &

(d) ToI=e 93 AT ATYT Hi@d ¥ 9g19% gial o

Directions (61-63): The questions below consist of a set of labelled sentences. Out of the four options
given, select the most logical order of the sentences to form a coherent paragraph.

Q61. P- And slowly, you reach the pinnacle of self-awareness, experiencing a unity with all life.
Q- If you transform your energy positively, it naturally becomes compassion and love.

R- Once you experientially are a part of everything then nobody needs to teach you morality.
S- Then you can do something to improve the situation, but without anger.

(a) PQRS

(b) QPRS

(c) RQPS

(d) RSPQ

Q62.

P-The Economic Survey highlighted the effect of labor reforms in Rajasthan, suggesting that.

Q- At a higher rate than the rest of the country after labor reforms.

R- The growth rates of firms employing more than 100 workers increased.

S-But worker organizations claim that the implementation of such stringent labor laws in most States is
generally lax.

(a) PRSQ

(b) PRQS

(c) RQPS

(d) RSPQ

Q63.

P- Rights rather than rushing through them.

Q-A broader consensus on any major rule changes to existing worker.
R-In such a situation, the government should be better off building.

S- For the sake of simplification.

(a) RPSQ

(b) QPRS

(c) RQPS

(d) SRQP

Directions (64-68): In the following passage, some of the words have been left out. Read the passage
carefully and select the correct answer for the given blank out of the four alternatives.

India’s second moon mission, Chandrayaan-2, was from launch just 56 minutes before its
scheduled liftoff on July 15. This was owing to a technical glitch in the GSLV Mark-III rocket launcher. No

date has been announced for launch. This has no doubt served as a on those who
eagerly looked forward to India being only the fourth country to launch a mission that would land on the
moon, and the very first to land and explore its south pole region. Yet, it was best that the glitch was
discovered before the launch. Rocket launches always have a _ finish. Even the GSLV-D1, the
slighter predecessor to the GSLV Mark-III, suffered such a when it was about to be launched
for its first developmental test flight in 2001.
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Q64. India’s second moon mission, Chandrayaan-2, was from launch just 56 minutes before
(a) pushed back

(b) hold back

(c) pulled back

(d) called back

Q65. No date has been announced for launch.
(a) expiry

(b) rescheduled

(c) confirming

(d) auspicious

Q66. This has no doubt served as a on those who eagerly looked forward to India being only
the fourth country to launch a mission.

(a) pioneer

(b) crusader

(c) proponent

(d) damper

Q67. Rocket launches always have a finish.
(a) dud

(b) nail-biting

(c) hideous

(d) head-scratching

Q68. Even the GSLV-D1, the slighter predecessor to the GSLV Mark-IlI, suffered such a when it
was about to be launched

(a) setback

(b) feedback

(c) lowbrow

(d) backlash

Directions (69-73): In the following questions, a sentence / a part of the sentence is in bracket. Below
are given alternatives to the bracketed part which may improve the sentence. Choose the correct
alternative. In case no improvement is required, choose "No Improvement" option.

Q69. I intend (to make) hefty returns from stock market.
(a) to making

(b) make

(c) to made

(d) No improvement
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Q70. Hardly (did Kishan reached his house when) his son wished him.
(a) Kishan reached his house when

(b) did Kishan reach his house when

(c) did kishan reach his house as

(d) No improvement

Q71. What (you have been doing) in the academy since last month?
(a) have you done

(b) you have done

(c) have you been doing

(d) No improvement

Q72.If I (would have known) the truth I would have admitted it.
(a) had known

(b) have known

(c) know

(d) No improvement

Q73. Members usually meet in (one another’s) homes.
(a) anothers’s

(b) each another’s

(c) every other’s

(d) No improvement

Directions (74-76): In the following question, a sentence has been given in Direct/Indirect speech. Out
of the four alternatives suggested, select the one which best expresses the same sentence in
Indirect/Direct speech

Q74. Kiran asked me, “Did you see the cricket match on television last night.

(a) Kiran asked me whether I saw the cricket match on television the earlier night.

(b) Kiran asked me whether [ had seen the cricket match on television the earlier night.
(c) Kiran asked me did I see the cricket match on television last night.

(d) Kiran asked me whether [ had seen the cricket match on television last night.

Q75. Rajesh requested me to bring him some oranges.
(a) He said, “Rajesh, please bring me some oranges.”
(b) Rajesh said, “Will you bring me some oranges.”

(c) Rajesh said to me, “Please bring me some oranges”.
(d) “Please bring my friend some oranges”, said he

Q76. He said, “I am building a robot.”
(a) He said that [ am building a robot.
(b) He said that he is building a robot.
(c) He said that the robot is being built.
(d) He said that he was building a robot.
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Directions (77-80): In the following questions, a sentence has been given in Active/Passive Voice. Out of
the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active
Voice.

Q77. Go away now.

(a) You are requested to go away now.
(b) You are suggested to go away now.
(c) You are ordered to go away now.
(d) You are allowed to go away now.

Q78.The guidelines provide instructions on procuring AGMARK quality items for preparation of midday
meals.

(a) Instructions have been provided by the guidelines on procuring AGMARK quality for preparation of
midday meals.

(b) Instructions on procuring AGMARK quality items are provided by the guidelines for preparation of
midday meals.

(c) Instructions on procuring AGMARK quality items are being provided by the guidelines for preparation
of midday meals.

(d) Instructions are being provided by the guidelines to procure AGMARK quality items for preparation of
midday meals.

Q79. Let me sit.

(a) Itis suggested that I sit.
(b) I'should be sitting.

(c) I may be allowed to sit.
(d) I will be sitting.

Q80. The lion was running after the deer.
(a) The deer was being run after by the lion.
(b) The deer is being run after by the lion.
(c) The deer was been run after by the lion.
(d) The lion was being run after by the deer.

Directions (81-85): Read the following passage carefully and choose the most appropriate answer to the
question out of the four alternatives.

The Union Environment Ministry has selected 12 beaches in India to vie for a ‘Blue Flag’ certification, an
international recognition conferred on beaches that meet certain criteria of cleanliness and
environmental propriety.

These beaches are at Shivrajpur (Gujarat), Bhogave (Maharashtra), Ghoghla (Diu), Miramar (Goa),
Kasarkod and Padubidri (Karnataka), Kappad (Kerala), Eden (Puducherry), Mamallapuram (Tamil Nadu),
Rushikonda (Andhra Pradesh), Golden (Odisha), and Radhanagar (Andaman & Nicobar Islands).
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“To achieve the internationally recognised highest standard for the purpose of beach management,
planning and execution of projects for infrastructure development, cleanliness, safety and security
services, these beaches have been identified for Blue Flag certification in different States and Union
Territories,” reads a notification by the Ministry. The Blue Flag programme for beaches and marinas is
run by the international, non-governmental, non-profit organisation FEE (the Foundation for
Environmental Education). It started in France in 1985 and has been implemented in Europe since 1987,
and in areas outside Europe since 2001, when South Africa joined. Japan and South Korea are the only
countries in South and southeastern Asia to have Blue Flag beaches. Spain tops the list with 566 such
beaches; Greece and France follow with 515 and 395, respectively.

There are nearly 33 criteria that must be met to qualify for a Blue Flag certification, such as the water
meeting certain standards such as waste disposal facilities, disabled-friendly facilities, first aid equipment
and no access to pets in the main areas of the beach. Some criteria are voluntary and some compulsory.
India is set to apply for certification for two beaches, at Shivrajpur and Ghoghla, by July-end. About 320
crore have been spent on each and the FEE jury will decide by October if these beaches meet the mark, an
official in the Ministry told The Hindu.

Q81. Which organisation runs the ‘Blue Flag’ programme?
(a) United Nations Environment Programme

(b) United Nations Development Programme

(c) Foundation for Environmental Education

(d) World Health Organisation

Q82. Which Ministry has selected 12 beaches in India to vie for a ‘Blue Flag’ certification?
(a) Union Environment Ministry

(b) Union Ministry of Home Affairs

(c) Union Defense Ministry

(d) Union Finance Ministry

Q83. Which two beaches are set to apply for ‘Blue Flag’ certification by July-end?
(a) Shivrajpur and Bhogave

(b) Bhogave and ghoghla

(c) Shivrajpur and Ghoghla

(d) Bhogave and Miramar

Q84. How many beaches of Spain has been given the ‘Blue Flag’ certification?
(a) 566
(b) 576
(c) 515
(d) 395

Q85. Which among the following statements is not correct?

(a) There are nearly 33 criteria that must be met to qualify for a Blue Flag certification.

(b) Spain tops the list with 566 such beaches; Greece and France follow with 505 and 385, respectively.
(c) It started in France in 1985 and has been implemented in Europe since 1987, and in areas outside
Europe since 2001, when South Africa joined.

(d) The Blue Flag programme for beaches and marinas is run by the international, non-governmental,
non-profit organisation FEE.
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Directions (86-90): In the following questions, some part of the sentence may have errors. Find out
which part of the sentence has an error and select the appropriate option. If a sentence is free from error,
select 'No Error'.

Q86. People express their expectations (A)/ that their leaders should not (B)/ resorting to corrupt
practices and nepotism, (C)/ No Error (D)

(a)A

(b)B

(cC

(d)D

Q87. Asian culture will, sooner or later (A)/ become international norm (B)/ for entertainment industry.
(C)/ No Error (D)

(a)A

(b)B

(cC

(d)D

Q88. Hectic schedules can (A)/ take a toll on anybody and the solutions to this is (B)/ a quick holiday to
any exotic location. (C)/ No error (D)

(a)A

(b)B

(c)C

(d)D

Q89. The number of marks (A) / carried by each question (B) / are indicated at the end of the question.
(C) / No error (D)

(a)A

(b)B

(gC

(d)D

Q90. Inspite that organisations are aware (A)/ of the importance of IT they often do not know (B)/ how
to deploy it effectively. (C)/ No error (D).

(a)A

(b)B

(oC

(d)D

Qo1 afx (V3) X9 =3"X 3V s o m s
(a)3
(b) 2
©)5
(d) 6
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Q92.2x+4y-8xy-1=7
(@) (1 +4y)(2x-1)
(b) (1-4y) (2x-1)
(c)(1-4y) (2x+1)
(d) =% 7 FrE ST

Q93. 3 3x +7y = 75, 5x - 5y = 25 & AT (X +y) FT HTH fohaar 82
(a) 17
(b) 16
(c)18
(d) 15

Q94. T ST AT 7 FHeT: 30000 =¥ 45000 FTF % fHaer AT UF €T ¢ ATl 2 a9 718 1,50,000
&, 6 AT H F HAT T AR T gem?

(a) 30,000 .

(b) 45,000 =.

() 75,000 =.

(d) =¥ 7 TS TET

Q95. TSI FiT AT T 5 T TZA ST 9 W AT T IO 15 g LIS =hl AdTHTT S FAT 872
(a) 6
(b) 7
(c)5
(d)8

Q96. <T T ATHIT H (AOB) T | <@T g MY (0C) ST U MIfaa gl T a:b=2: 18, A aFT AT & —

'y
/

A o B

(a) 80°

(b) 100°

(c) 120°
(d) 140°

Q97.TF AT AABCH A3 LA=4 £B =6 £C g AT LAFT AT foheqeT 872
(a) 60°
(b) 80°
(c) 30°
(d) 40°
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Q98. TH TAATHIT TF % qh TS Tl SAFA 264 a3 HIeT g 3T THHT AT 1848 T HieX gl @FH il HATs
TRa=t 82 (= 22/7 FT AT 7))

(a) 4 91

(b) 3T

(c) 5

(d) 6 |t

Q9. fy (477~ 4%+ 4%5) =k, 4% & 3y | 7 3yt Pt 297
(a) 16

(b) 64

(c)13

(d) 4

Q100. 5a® + 15a - 6b - 2ab =
(a) (5a + 2b) (a + 3)
(b) (5a + 2b) (a - 3)
(¢) (5a - 2b) (a - 3)
(d) (5a-2b) (a+3)

Q101. U ZAT fashar « &1 &t 9600 0 il &% & =<1 S8 H, I U el 9% 20% AT ITa =67 3% T
AT UX 20% BT IoTE, T A § Tohaar A1e IT FTI Taerd gar?

(a) 10% &TH

(b) 4% TN

(c) 4% T+

(d) T ATT T BT

Q102. TH &q H 6 FHHAT U H14 &l 16 &A1 § T Fd 3| I3 T8 7 4 &A1 § 1 w27 8, 1 Fovaer st
T ATTITHRAT GIR(T?

(a) 20

(b) 18

(c) 24

(d) 28

Q103. (< ATLTIOT AT 5 T H 8% il T H 640%. g AT TAe TohaaT grmT?
(a) 1,280 %.
(b) 1,600 .
(¢) 3,200 .
(d) 2,400 %.
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Q104. UF I 25 =& § 3750 Tt it T TF AT &, Tol o U = | fohadt oiiea gir aF Hi?
(a) 140 fereft
(b) 175 FrHT
(c) 150 ffy
(d) 130 forHT

Q105. AT 7 99 & UF {Ted § 7 50 I« forw) 399 39w 3 =1 & 30 99 9H°= =9 F g1 ITF 97, I
FU T T 7 2 99 999 o forw| J7q Fifore & sri=er & 99 hae a9 82

(a) 26

(b) 22

(c)12

(d) 32

Q106. HgT 7 TH F1X 8000 %. H @Gl 3T UF a4 o a18 26 25% =l g1+ I o= [&AT| FL & @FT TF
T o
(a) 7000 =.
(b) 6000 .
(c) 10000 .
(d) 9000 =.

Q107.4,6,12,15 % L.C.M foha=T 872
(a) 180

(b) 60

(c)72

(d) 120

Q108. =<t & AT HIT FT TR -
(a) 180°

(b) 360°

(¢) 90°

G EEEEIERE

Q109. AABC =¥ AADB IWATHE SMeT AB 9% g 3T AB #il ¥ 95T 9% g1 DALAB, CBLAB =¥ AC = BDI

= | HIAET 97 872
(a) AABC=AABD
(b) AABC=AADB
(c) AABC=ABAD
(d) AABC=ABDA
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Q110. =¥ Fregett F¥ ot = & 7 F
(i) 20 &Y, 22 |, 24 THT

(i) 15 &4, 32 99T, 37 IHT

(iii) 11 &Y, 60 &Y, 61 FHfY

(iv) 19 5HT, 40 5HT, 41 FHT

T | FHIFET U GHEH T (ST a47aT 872
(a) ()

(b) (ii)

(c) (iii)

(d) (iv)

Q111. Moo & & AT HeAT § oI foreqor o ILAT il Helah (ATqTT Al 52
(a) STrae & Hatea AT ATey

(b) T AT AT ATRT

(c) fafere g =mfeT

(d) =8 & FT< TE

Q112. I T T IO T Uk qrear § AT gLreqshi g0 {0 70 80 H & THIA 42 i UTH FdT 8, af I8
fReferiea & & geaied $t w9 dF Fauars 290idr &

(a) fAoTerar

(b) reraTt

(c) Feraa=aar

(d) SATEETFRAT

Q113. F=ferfera & & wFam wifvrag & ek it f=orwar 78t 82
(a) A=T

(b) ooy T Fferaar

(c) |Tfershar

(d) FErsEraThar

Q114. FHTITET & | THeA T FTAT & (10 (0T H HITGF FHTF il Tad TgeaqoT (o99dT 47 872
O RERIRIEERIERIREEI L

(b) =g FHT TTAT

(c) T9T UT8er it sraeTwdT A5l §

(d) W &9 & W7 T g el | 99
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Q115. FHferfed #§ & T=AT ST T W=IRERT &7 FI9 |7 Fsie T 3T SATA{S g2 & forw f&Fow =7 7
qaH ITANT 82

(a) TAHTST-TTSTFT

(b) Zexufdes sgree a1

(c) TATEE TSy

(d) ==hfasE

Q116. dferw MM F &= |, &7 IUANT FRAT ATAT &
(a) TAATHS ATHAA

(b) “=Ti=F Trero

CEEIET]

(d) T g7

Q117. 9T AT & o1 39 faegqa Farwra g oA us rew v Q@ &ear g
(a) fAfera srafer

OERIEEIE

(o) o7 o

(d) =% & FE 7L

Q118. TTOrq T=TH H HeATE gHT AT 60
(a) G % ATHAT VT FLA o6 G0T

(b) STLAT o TASTHLOT & qHT
(c) IRLAT o TASTHTIT ST HIE & AT TIT il 6 ATa
(d) 3UTrh Tt T 9T

Q119. foreAT ITLAT 3 TR o & H A0 Fle 872
(a) TS &

OEREIE

(c) =7

(d) fErrra=

Q120. gt Taretia & 405 T e &l 306 % & | for@d! g1 gt =t diaa & arer 47 g i< forersh 3aeht
AT i FHT ThdT 872

(a) gt = or+ft @6 100 T Fi==T 51 Har 2

(b) Rt T AT AT Y STALTIOT T 31 & A5l 9HAT §

(c) Tt =1 ormaT € o =g weft wifvra 2 7z aadt 2

(d) TRt T ATIATE A= gl AT FHT T FUAT URTS X &A1 Aol <l 2l
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Q121. Freweft aeT l= 91 8?2

(a) T&heT

(b) Tfegerfear
(c) ArTZTaT
(d) steE=

Q122. HITHSH & ATA g i AT &7?
(a) I&

(b) IF

(c) 7T

(d) et

Q123. F[ATSSIT I (TATH) & §aH § MaAfeiad § & i a7 F99 G5! 872
(a) T TEETEEIT FT ICATET L & [oTT ATST HITARTSA T ITATord HLaT &l

(b) 7 TF FIRTAI 2l

(c) T8 ¥TFe wiferses grer &l grar 2

(d) T THRUHTT & AT AAHA Aol (<@Tav 2l

Q124. Faferfea & & & |1 fereror wgfa AEas Fead it 7gca 3t g2
(a) AT -Tg-T=9= fafyr

(b) =aTEIT At

(c) =T FHTeT fafer

(d) srrerTeT fafeyr

Q125. 0.75 ToHIT oA it UF a5 S F S[S1 UF ST & Al gs gl TG T SN T AT 4T I F4T
ZATT?

(a) 8.45N

(b) 7.35N

(c) 6.85 N

(d)9.8N

Q126. Mo & | IF 97 ATIHH AT Aal 87
(a)-8°F
(b) -8°C
(c)-8K

(d) 3T Tt

Q127. AHIHIAT ATZ2T2 FT TEHH G &
(a) NH4N

(b) (NHg4)z N3
(c) (NHs)z N
(d) (NH4)z N2
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Q128. FHW wIEaT SHIA AT Tl o (70 T A §
(a) T TR T ThkeAT A=A

(b) T TTEhIe 3T fAeter FAEs

(c) T TTeahier ¥ Svwfers uee

(d) Tferefta erzhre i wEafagrea

Q129. ArAzreeten Mwfertea # & forees g &fad gr|e 82
() ST o e & SATSASH #hl il HlfAHTT

(b) ST & ANLRH o SATSACH il AT HITARIT

(c) =gt st & =poeremifaw

(d) SETATET o TALGH & SMSAed il Seal HITARTT

Q130. wva AiEqs* At fAe@ Tfafater 1 veaag w2 & oo Fufieg & & G Swr w1 37T B
STt 872

(a) ECG

(b) EEG

(c) EIG

(d) EMG

Q131. Fforfera & & &9 gaigry siia 82
(a) formm™

(b) &=

(c) AT

(d) @Trer

Q132. TTfhas TNT Aqed & Aot & & o o & yaiaa wear 872
(a) FFHE

(b) wfEqTH

(c) &=

(d) Pt

Q133. FHIed & | I a7 FIF 9Tel § Fg TeAT % 1L H T 872
(a) AT T STST T FAC AT AT Flag TRLHT (STITSTISH H @[ AT &
(b) s araraor & CO2 srgar g

(c) TRTST TN ATATALI H ATFH o SIS

(d) TTET TART T HUT AT AR g FROMHT I-IR{cae H I@T STt &

22 | www.teachersadda.com | www.sscadda.com | www.bankersadda.com www.adda247.com


http://www.teachersadda.com/
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/

Q134. Faforfad & & &7 a7 YgUF ¥ T aul T UF T 87
(a) HCl1

(b) HNOs

(©) HCHO

(d) HCOOz

Q135. FTSS IS TUFEH H =@ sl HIHT QT (FLIAT) il T 9T &
(a) 12,186 cm~!

(b) 27,419 cm!

(©) 1,09,677 cm™!

(d) 15,223 cm*

Q136, A8+ AE T 248 T U 3T 7
(a) frer srfora

(b) SITTEET A AT

(c) STAT AT

CRERIECEGIERI

Q137. Fwforfad § & sATee v« & 99 &I TgaTH|
(a) =sh=, ATt -6

(b) ATAAI 6, 6 AT ATIA -2 ATTATT -6

(c) Tt ThhetT=eTsd, SHAie

(d) T7T- N, 1- S

Q138. UH ¥ A% a1 | 10.64 Tt 1= g1 =9 Tg1s &t IY & 70 U orer 3 U A B 9eiar g
77 Toha a9 % 12 wiaeals I FiTd 6l ITHIE FC ThdTl g2 THE & T | eafd i 910 = 1520 m/s =

(a) 21s

(b)7s

(c)14s

(d)3.5s

Q139. TF sraae Uur rereht ahat Fear 40 T3t 2, 1 =99 30 T it T ¥ UF ygg &g | F g @
a7 g i Ay Rt s Fifsrn

(a) aEq F foheTE O TT0T F 50 TTHT

(b) =g * R 9T T 7 60 FHY

(c) 7=q * TeT 9= 3dur 7 30 Fft

(d) =g F AT 9% T & 40 Y
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Q140. 9.8N ST ATAT AT T¥ 9.8 m/s? FT LI ICTH Fl o [T Tha T I AATF g2 g = 9.5 m/s>
(a) IN

(b) 9.8N

(c) 49N

(d) 19.6N

Q141. UF fersh AT FT IR F2A & N7 U 29T AT FX @1 8, AR T2 & TUterd Iy agi
THear g1 Treqeh 7 qa¥ A=81 qATg &f Al

(a) AT T QTS Fleh TR il (AHAAT o LT T TAT AT, T FHATT

(b) T THw=TF T U I I, 39 FHL H o % forg 72

(c) =TT T TFAT 3T 0 /T T FTAT

(d) FEAT T FqTy foF T=oi= et LT oY 3w wreur [Mgiid 3 # 7ag #T & (o0 g

Q142. FITHAT AHATT IT (T HTAAT FHEAT o ST [ Uk &5 GHO 9T o 1T gl Foferiaa & & :id 97 3297
o T 872

1. 7€ BT Hl 319 AT T&T FHdT g

2. AT Ivg, TAATCHE TodTohe [0 TETSTHE AT AToiFe T qhell g

3. T AT % THAT RIS HT TETaT 2

4. THH I T T GHT 9T ¢

(a) Fae 1

(b) et 4

(c) 23T 3

(d) 1,2 %<3

Q143. ToreATfT FeTar Sl FHILIAT, |l ATl UTel & AT 6 FHIAT 6 o9 AGATT FIA H T&IH g| ITLUh AAGITH
29T UX T & & aeqia g Fgiased i W 79 3 ST |9k 872

(a) TATSIT & 3T TTLYTIOCHF AHATY

(b) HHATHATHS &3 AT THA

(c) ATATHT & 3T oI

(d) SULE | & FIS AG0

Q144. =T 3T FeAT TR, T ST TA FIAFH A T TRV TR Fled o6 (0 &
(a) ToreATrei=T & forw Ue =ATHS A9 & FY

(b) Tt =eETT & ore ST 1 TIATErT FwIAT

(c) T & forw ua a1 wrfua &<

(d) wTaT-foaT &1 dqe w7
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Q145. Ig YT Feqrsii  forw uaefigenzdt B it arergeast § o€t wear § 2ffw e & gafdq v
Tt & e saia |rg T 3T g1 UAT 6T 1T §, arren

(a) TEATHA o 2 o oI feversi o 98 WoIT T U 3727 9 &

(b) BT TH TATAT T AT TTH F {10 TATART T AT Tohl

(c) Toveren =1 AT T STANT I[g 1A 6 (10 HT Tohel &

(d) BT AT ST T @IS Fh T TATAL o STATd AT Toh

Q146. TAHIUE 2005 F ATHTT, 3F TTATHE Ta< < AT o 10107 92 SATeahan &A1 <A71 AT
(a) FEAT SATERTH AT STTAT I THA & ATEL 6 SAT F AT FHLAT

(b) ITETIEAT | Th THT ASATIF AIaT Fl ATE TGAT

(c) ITSTIEqS VAT H 30 70 T 377 F I T&T FeeAl

(d) TTeT § FIAT % VST § g9

Q147. freaT =T srfersrT srferfe=rm, 2009 forerani  forw afa wTE 1 & =i 6 ~qAaw T ey Far g
(a) 40 =
(b) 45 =<
(c) 50 =
(d) 55 =<

Q148. THAT FH&eAT T (AGTH [AeTF FE FAeHl 6 ATT Ueh arHalieh TLATSHAT &[F FT TGT gl ST Fl -7 T
oo O oTre ST ATATERTT AT e, Ueh XOTe fora 3 Uah /i Seqid oo i sraedehdl gl

e & = by =, forers Meforfaa & & e 2o 1 ST v TRASET % &t &l 9T F 6 o
asft o T SHaT F qATAH € F G4l @ Tl 27

(a) X TioMae § AEMEAT J&E Feed o (o0 Al & AENEET &l TATe AT 3 ANNERT & Wmad & fou
e a9 Mgt wr

(b) AT T Teh AT T3 Ik GTE TTATSIAT AT 0l G2 FLT o (o0 ST Tt A9 ¥ &Har g

(c) FXUEE FH § TRATSHT @Al Al AACAT HLAT A TAH TLT Rl QI FLA 6 o7 FOAT F [Haer 3w
ATEHTH TSI LA

(d) BTAT T T THATA gU Toh TRATSIATSAT % I29T Ueh F81 (AT AT § Hdf The g &

Q149. fAreToT T T THEA H FTF ..o | LU TE(d SIATE AT Bl
(a) AT, ATHT

(b) T, ST

(c) 7=, STARMT

(d) T, IR

Q150. FHAAT T ATAAT FAT *F BIAT T ITHT FHT Hged HE@™=T g1 BT 6 =7 {2 6 I Gaaaefite aq1+  form
Sve REferea & & &g |1 Tt e Fl AT u?

(a) AT & THTATE oG THT FHLA % [T Fg

(b) 3= T@ T U Tohew fR@Td 3fiT 399 UF o, Haar A1 FgT forad & o w2

(c) 375 T TEaFTad § ITHT IT FIH [EAHT AT ATAT Hd & (U T,

(d) 3ve Sexre AT & [olT Fig T TTAT 6l HHT o6 ST F SATARET THT FHiL
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$1. Ans.(b)

Sol. The correct answer is option B, i.e., logical and rational thinking is not a characteristic of early
childhood stage. The developmental characteristics of early childhood includes: increase in physical
strength, use of motor skills to handle exterior environment, rapid development of language, perfection
and practicing of existing skills, use of language for communication, illogical problem solving, prevalence
of magical and fantasized thinking, parallel play (i.e., playing in presence of, rather than in interaction
with, other children), imitation and learning of social roles, relations and practices, etc.

S2. Ans.(c)

Sol. The correct answer is option (, i.e., original and productive thoughts. Only statement in option C is
correct, rest all are incorrect. Intelligence is not a process, but an ability to learn and understand the
world and its complexities using one's thoughts and experiences, to effectively deal with the challenges of
life. Its abilities include: adaptability to a new environment, ability to comprehend relationships ,capacity
for reason and abstract thoughts, capacity for original and productive thoughts and ability to judge and
evaluate. Intelligence is guided by reason and logic, thus there is no magical thought process involved in
it.

S$3. Ans.(d)

Sol. Dyspraxia affects physical coordination. It is not related to intelligence, but it can sometimes affect
cognitive skills. Sometimes it is used interchangeably with developmental coordination disorder. It
affects fine and gross motor skills, coordination, and motor planning.

S4. Ans.(a)

Sol. The correct answer is option 4, i.e., Piaget. Jean Piaget has introduced the four distinct stages of a
child's cognitive development. Piaget proposed that a human goes through four distinct stages in the
procedure of development. The four developmental stages are- The Sensorimotor stage, the
Preoperational stage, the concrete operational stage, and the formal operational stage. Through these
four stages, he talks about the physical and mental development that occurs in a human body and how
children acquire knowledge and it also understands the nature of intelligence

$5. Ans.(d)

Sol. A gifted child is one who has an 1Q score of 140 or above. The gifted child has an ability that lies
within the range of the upper two or three percent of the population. The novelty in expression and
curiosity are signs of giftedness

$6. Ans.(c)

Sol. When a teacher sings a rhyme in a language classroom, he/she is trying to familiarize the students
with the sounds. The recurrence of the same sequence of sounds helps students to understand the sounds
of language.
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$7. Ans.(c)

Sol. Partial reinforcement is used at certain intervals or ratios of time, instead of reinforcing the behavior
every single time. This form of scheduling reinforcement after a certain number of correct responses is
also termed intermittent reinforcement.

$8. Ans.(d)

Sol. Maslow's hierarchy of needs is a theory of motivation which states that five categories of human
needs dictate an individual's behavior. Those needs are physiological needs, safety needs, love and
belonging needs, esteem needs, and self-actualization needs.

S9. Ans.(d)
Sol. Heredity and environment are dependent, complementary and cooperative to each other

$10. Ans.(b)

Sol. Every child is active to make their experiences meaningful. He is trying to know whether his thoughts
are harmonious or not. Children periodically search and build those behaviors and ideas. He never
thought of ideas before.

$11. Ans.(d)
Sol. Irreversibility of thought

$12. Ans.(b)

Sol. The Holtzman inkblot technique, also known as the Holtzman inkblot test, is an ink blot test aimed at
detecting personality and was conceived by Wayne H. Holtzman and colleagues. It was first introduced in
1961 as a projective personality test similar to the Rorschach. The HIT is a standardized measurement.

$13. Ans.(b)

Sol. Projective methods use a standard set of stimuli, such as incomplete sentence, pictures or inkblots
which are relatively ambiguous. Projective techniques allow respondents to project their subjective or
true opinions and beliefs .onto other people or even objects. The respondent's real feelings are then
inferred from what s/he says about others. Projective techniques are normally used during individual or
small group interviews.

$14. Ans.(d)

Sol. Main streams of RTTE

Section-3: Free education up to 8th standard for children of 6 to 14 years.
Section 4: Admission to class according to age.

$15. Ans.(d)

Sol. Exploration of relationships between concepts Is the most effective node of' leaching- learning.
Effective teaching can be defined in many ways together with teacher behavior (warmth, civility, clarity).
teacher knowledge (of subject matter of students), teacher beliefs, and so out Here we describe effective
teaching as the ability to improve student achievement as shown by research.

$16. Ans.(d)

Sol. A teacher should analyze the various errors made by students on a given task because understanding
of errors is meaningful m the teaching - learning process. In order to have mastery of their teaching
content, they should appreciate how student's best learning concepts, content and skills. Effective
teachers use their knowledge of learning processes to determine which will be most effective to help the
particular students in their classes learn productively.
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$17. Ans.(b)

Sol. Conceptual understanding among students is likely to improve in the settings which emphasis on
inquiry and dialogue. According to Conceptual understanding among students is likely to improve in the
setting which emphasize on. (1) Inquiry and dialogue. (2) Competitions.

$18. Ans.(c)
Sol. It is difficult to learn when information is presented in disconnected chunks because it becomes
difficult for a child to connect the diverse concepts. Emotions are inextricably intertwined with
motivation and learning hence presenting disconnected chunks of knowledge would deviate the attention
of the child.

$19. Ans.(d)

Sol. Scaffolding for learning implies that Instructional scaffolding is a procedure through which a teacher
adds supports for students in order to improve learning and aid in the mastery of tasks. The teacher does
this by methodically building on students experiences and knowledge as they are learning new skills.

$20. Ans.(a)

Sol. The correct answer is option A, i.e.,, Children with 'dyslexia’ can be identified by analyzing their
reading and writing skills. Dyslexia is a disability to read and write things properly. The disability due to
weakness in phonological processing with poor self-expression is called dyslexia. Learners with dyslexia
face trouble with word recognition, differentiating between left and right, remembering new vocabulary,
delayed ability to speak, poor spelling, poor in sequence and numbers, etc.

$21. Ans.(b)

Sol. The correct answer is option B, i.e., A child-centered classroom is one in which the teacher is flexible
and caters to needs of individual children. A teacher uses rewards and punishments to direct children's
behavior in Skinner's theory of behaviorism and conditioning. A teacher segregates the children based on
their abilities to help child with special needs. This is called ability-grouping.

$22. Ans.(b)

Sol. The correct answer is option B.-Bodly-kinesthetic - Athlete. The Theory of Multiple Intelligence was
given by Howard Gardner. His book, "Frames of Mind: The Theory of Multiple Intelligence" proposed
eight theories of intelligence. He believed that development of intelligence is affected by both biological
and cultural aspects

$23. Ans.(a)
Sol. Students with physical disability is one of term applicable with the Right to persons with disabilities
act 2016. In this act every person with or without any physical disability has a right to education.

S$24. Ans.(c)

Sol. The children in formal operational stage are capable of hypothetical-deductive reasoning and
propositional thought. Piaget gave four stages of cognitive development of children: Sensorimotor Stage,
Pre-Operational Stage, Concrete Operational Stage and Formal Operational Stage.

$25. Ans.(c)
Sol. G. W. Allport- This definition was given by Allport in relation to personality.

$26. Ans.(c)
Sol. Learning from one situation to another. Influencing its learning and performance in a situation is
called learning transfer.
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$27. Ans.(c)

Sol. Guilford (1959, 1961, 1967) and his colleagues presented an explanation of the structure of
intelligence on the basis of three mental abilities. This intelligence structure theory of Guilford is called
the three-pronged intellectual model.

$28. Ans.(c)
Sol. The use of brainstorming model for teaching is used to improve creativity.

$29. Ans.(c)
Sol. The needs to work in his social development as he is physically fit and scores good marks yet he gets
punishment for not well behaving in class.

$30. Ans.(a)

Sol. Vygotsky was a Russian psychologist. His research was related to the development and structure of
human consciousness. Vygotsky emphasized on the cognitive psychological approach. From the
perspective of cognitive development.

$31. Ans.(d)

Sol. ‘H fraT % forw =T a7 T@T &' 39 AT § "G i gl §9ar e - F= faam st = e form
TRIT T STTU, SE HYRTE 1 Fgd o138 & (=ed & ‘&l Ud ‘o o) STMgL0r - AHa « fHary & ao o §
&Sl o ToTT et 1T

$32. Ans.(d)

Sol. ‘RrYer erez & <o wfer g1 < |er -STar &7 9rsal ¥ Tl e THT (37, A1) F T (A, A1) G AT A F9T &,
S (3, %) F A (3, %) 2T AT T AT S, o (3, F) F AT (3, F) BN AT F aear 2

ST & + AT [EARAT a9dT gl TGl ST+3TT THAFRL 7 a1 g

$33. Ans.(c)

Sol. =H T | ‘HETATIA [ TINT Ueh (hel (el o &7 H goll & AU g T ATha = ST gl A Tharae ql]
- STT 9158 Fad Tah AT<h, d€q AT TATT HT A1 FAOA & I M6al Fl AThaTaT GAT Fgd gl STH- AT, =T
(®aT), FohaTar, AT foRet (F%q), T[T, THETHGTCHT el (ATeh) sl

$34. Ans.(c)
Sol. ‘T 9rsx 1w A=wE A + S B

$35. Ans.(b)
Sol. ag FI g ST I TNl = 14T H Fagarash qad1q &1 TANT gl gl o gaam & areq 7 et g

TAATH & ¥l AT AT & IH TFI=gaT=eh TaqTT Fgd gl S : SI-HT, Tgi-qgT, SET-4T, SAA-a 1 |

$36. Ans.(c)
Sol. E U TG4 958 g THHT AcH 53 TEH gl 3T+ AT T 058 3

$37.Ans.(a)

Sol. ‘TATATE T ATHATIE [GUg ‘STATY & ATATT gl THH TAATATT THIH gl ATATH qH1H - T 8779 H
TgdT 92 (T U%) T BIaT g < I U2 AT gIal &, THH gl 9% STEN gIdl g 94 o, &, 31, id, 8T, 9T,
9, [, 79T, T1aq ATt STERT 9U6% 7 97 grav’ &
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$38. Ans.(c)
Sol. ‘& STAAT § il TR AT 3= Aal add’ dg U [HIHq Aty gl [T ar — 59 arsat § v qeg a1
LT ATHT BT 3T T STTT STATHT B, Sve (WA AT%T Fgd ¢

$39. Ans.(a)
Sol. ‘sTgaTe Hfersiewor g - o gt 7 srgrfersr o &er s

$40. Ans.(d)
Sol. ¢Te% T ¢[F AT & — AT

S$41. Ans.(b)
Sol. TET ‘AT IAVT H FTHTA & o TITH IT G 397 | TRTA g T TANT 3= Bl

S$42. Ans.(c)
Sol. ‘THT IF ST TLUXRIG I’ TH ATHFATA o707 U 9167 ‘A gl

$43. Ans.(d)
Sol.’g= FT e THAT HgE< & o2 g T 2

S44. Ans.(d)
Sol. ‘F1’ TEIETH FTeH HiT faraf g

$45. Ans.(c)
Sol. ‘=gl erea § f5cd &1 YT g 21 foca & o1 = Ff 31 FHIT ST 6 o= Hls @2 T 1 ql a8 AT
ot FgeTa 21 ST STgT, T, AT, F A

$46. Ans.(c)
Sol. TZT TET 9157 T TANT I &l T UF HaT &, "HI FT AS &l AT " & qreqd g o qorane =7f<k a7
FE T ®T, [ AT S@T ST, IHehT [ TIqT <&t At & |

S$47. Ans.(a)
Sol. T’ orex T /e fo=g A : + w2

$48. Ans.(d)
Sol. IHA 9158 § ‘AT ITEN A5l g =HH ‘AT ITAV ¢

$49. Ans.(d)
Sol. 9153 T 9[F AAAT § — FIET

$50. Ans.(c)
Sol. ‘T’ 91&% H AATIH &Ter g, Te=T = 9T + =

S$51. Ans.(a)
Sol. HIF aT= ag aTad ¢ ST TeT | T 2IAT &, Tq Ted H qgl| T 19 H AT<h A L@ |l IS Hl 98
HHAT g, AR T ATAT H ITAF [ HiadT TS HAT gEIT ST HITEF a1 o Said AT
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$52. Ans.(a)
Sol. smH fafer sargeor & faw it e foveror o ww senfia €, smraer &fer ey foreror f weoaot &t g,
=H Afg ¥ Augeeg & T & 9 999 9gd SaTg 0 QU STd §, 394 a8 e #gid &7

STE TR 0T {3 ST 2|

$53. Ans.(d)
Sol. WTHT S{TERTH T FTIU &- AT [ASATH, SATHIT AT ATUT FIA AT ISTERTH T 1 &, HI@A1 Ud i &l

AT & AT LT, SATERTH &l TATIAT FTA AT HILH g-ala, TATES, FATATAL AT TIFaT |

S$54. Ans.(a)
Sol. TBv<T AUHTAT Ta¥ 3T S & AT Tl g1 TEwal |} q0IT il Foer FeAT 52 7, ™ed 11 797 3T 41 o
BT 2| ATE AU 6 AATRIT Ul el THE 0 AVTHTEAT el 21 A7 TeaT AT 7 Fardy Gidt Uhrs 2rl 2

$55. Ans.(c)
Sol. ST &l I UTS F TEITAAT & TqT FAAT & %0l IH FAT 24T 8| TqTaAT H qTS § F97 F97 IgAT grav &,
Y A AT =TS ST & 918 6 a H gl

$56. Ans.(b)
Sol. &af™ fa=T &1 Faer A0 AIAA & | &al T 12 AT @, AT AT AT SITAT &, AT DA 6 FIT |

$57. Ans.(d)
Sol. ATFT 9,9 €T AT FZ1Ad H &9, Tl ol AT & &7 g

$58. Ans.(a)
Sol. FTH TATAH AT T HEGAT &, TGH gl agT I Al Al qdqT, qg AI [SAT I AT TZT FIT &l
Sh AT 8, 3 d18 gl g AT, T, @1 Tfs o= Ty T 2

$59. Ans.(d)
Sol. TEAATHF T TT BIAT il R T, Ieh R=, S A= a7 S qIUTs ferm 9% QT &7 faar
STTAT g |HTaTaTal Al &l Tafsre Sl Siel THTsie=, Aifged =T 7 9t @] & Srar g |

$60. Ans.(a)
Sol. TF FHTANT FeAT T UHT AT Al hl agT e TR F FAH HGIT TT &l IHHT FTHT FT (ShTe SToal
ST, ST HIE@d | IHHT (AHhTE 3T =T G G T STRA Aal 0l S(eal g

$61. Ans.(b)
Sol. The correct sequence is ‘QPRS’.

$62. Ans.(b)
Sol. The correct sequence is ‘PRQS’.

$63. Ans.(c)
Sol. The correct sequence is ‘RQPS’.

S$64. Ans.(c)
Sol. Pull back: to back away, withdraw, or retreat.
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$65. Ans.(b)

$66. Ans.(d)
Sol. Damper: a person or thing that has a subduing or inhibiting effect.
Crusader: a person who campaigns vigorously for political, social, or religious change; a campaigner.

S$67. Ans.(b)
Sol. Dud: not working or meeting standards; faulty.
Hideous: extremely unpleasant.

S$68. Ans.(a)

Sol. Setback: a reversal or check in progress.

Lowbrow: not highly intellectual or cultured.

Backlash: a strong negative reaction by a large number of people, especially to a social or political
development.

$69. Ans.(d)

$70. Ans.(b)
Sol. “Hardly + did + subject + V1 +........... When + ...... "is the correct format of inversion case.

$71. Ans.(c)
Sol. The structure of the sentence will be as follows: ‘Have + Subject + been + Verb + ing?’ The sentence is
in Present Perfect Continuous Tense.

$72. Ans.(a)
Sol. In ‘if’ condition ‘Had + verb’s 3rd form’ is followed by ‘would have + verb’s 3rd form’.

$73. Ans.(d)
S$74. Ans.(b)

$75. Ans.(c)
Sol. ‘Please’ is changed into request when changing into indirect form. Here indirect form has request in
it so ‘please’ has to come in direct form.

$76. Ans.(d)
Sol. Present continuous is change into past continuous in indirect form.

$77. Ans.(c)

Sol. Since the given sentence is an ‘order’ hence only option (c) is apt.

$78. Ans.(b)
Sol. An active voice in Present Indefinite tense changes into passive voice as follows:
Verb in active voice: V1

Verb in passive voice: is/are/am + V3
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$79. Ans.(c)

$80. Ans.(a)

Sol. An active voice in Past continuous tense changes into (was/were+ being + V3) while converting it
into a passive voice.

$81. Ans.(c)
Sol. Refer to “ The Blue Flag programme for beaches and marinas is run by the international, non-
governmental, non-profit organisation FEE (the Foundation for Environmental Education)”.

$82. Ans.(a)
Sol. Refer to the first line of the passage “The Union Environment Ministry has selected 12 beaches in
India to vie for a ‘Blue Flag’ certification”.

$83. Ans.(c)
Sol. Refer to the last paragraph “India is set to apply for certification for two beaches, at Shivrajpur and
Ghoghla, by July-end”.

$84. Ans.(a)
Sol. Refer to “Spain tops the list with 566 such beaches; Greece and France follow with 515 and 395,
respectively”.

$85. Ans.(b)
Sol. Greece has 515 ‘Blue Flag’ certified beaches while France has 395 such beaches.

$86. Ans.(c)
Sol. Replace 'resorting’ with 'resort" because modals (should, would, could....) take first form of verb.

$87. Ans.(c)
Sol. The word ‘the’ after ‘for’ is to be inserted. Here we are pointing towards a particular industry so it
should be made specific thus it should be “the entertainment industry”.

$88. Ans.(b)
Sol. ‘solutions’ should be replaced by ‘solution’ so that the sentence becomes correct because only one
solution has been provided in the statement.

$89. Ans.(c)
Sol. “The number” takes singular verb with it, thus, in part (c) “are” should be replaced with “is”.

$90. Ans.(a)
Sol. Here, In spite of the fact that/ Despite the fact that.... should be used.
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$91. Ans.(c)
Sol

5
(V3) x92=3"x343
Or, 35/2x 34=3nyx 3 x 3.2
Or, 35/2+4=3nyx 31+ %
or, 3132 = Fn ¢ 33/2

;
5132

Or,——=3n
382
13 _ 3
ar, 3? 3= 3n
or, 310/2 = 3m
or, 35 = 3n
So,n=5
$92. Ans.(b)
Sol.

2+ 4y -8By -1=7
Or, 2x-8xy+4v -1
Or,2x(1-4v)-1(1-4y)
Or, (2x-1) (1 - 4v)

$93. Ans.(a)

Sol. 3x+ 7y =75 ------ (i)

5x - 5y =25

Or,5(x-y)=25

Or,x-y=5-------- (ii)

On multiplying equation (ii) by 7 and adding to equation (i) we get
3x+7y=175

7x -7y =35

10x =110

Or,x=11

By putting the value of x in equation (ii), we get
11-y=5

Or,y=6

So,

X+Y=6+11

=17

S94. Ans.(d)

Sol. Neena and Meena started a business with investment of Rs. 30000 and Rs. 45000
Then, the ratio of investment of neena and Meena = 30000 / 45000

=2:3

Total profit after two years = 1,50,000

Then, Share of Meena from profit = 150000 x 3/5

=30000x 3

=90000

Hence, the correct answer is option (d) None of these
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$95. Ans.(a)
Sol.

let present age of Rajeev =x
So, (x-5) (x+9) =15

Or, x> +9x%x-5x-45=15
Or,x2+4x-60=0

So,x=6

$96. Ans.(c)
Sol. 120°

$97. Ans.(b)

Sol. In AABC,
32A=42B=6«C
X=3£A

£C=X/6 ......... (iii)

By using angle sum property

2A+ 2B+ 2C=180°

Put the values of ZA, £B, 2C

x/3 +x/4+x/6 = 180°

Let us find the L.C.M of 3, 4, 6i.e. 12
(4x +3x+2x) /12 =180°

9x = 2160

X =240°

Substitute the value of x in equation (i), (ii) and (iii)
2A=x/3

2A =240/3

So, £A = 80°

$98. Ans.(b)

Sol.

Curved Surface area = 264 m?
=2x22/7xrxh=264
Orrh=42.....cocee.e. (i)

Now, volume = 1848 m3

22/7 rrh = 1848

Or, rrh = 588

Rx42 =588 .............. (by equation (i))
R=14m

In equation 1

Rxh =42

Substitute value of r =14 xh =42
So,h=3m
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$99. Ans.(c)
Sol. 13

$100. Ans.(d)

Sol.

Sa?+ 15a- 6b - 2ab
=5a2+ 15a-2ab-6b
=5a(a+3) -2b (a+3)

= (5a - 2b) (a+3)

$101. Ans.(c)

Sol.
20-20-20x20/100
=0-4=-4

= 4% loss

$102. Ans.(c)
Sol.
By using , M1 d: / Mada
xle=4xX
X=6x16/4
X=6x4
X =24 workers

$103. Ans.(b)
Sol.

DRT
Sl=—
100

640 = Px8xb
100

Or, P = 1600 /-

$104. Ans.(c)
Sol.

3750/25
=150 km

$105. Ans.(a)
Sol. 26

$106. Ans.(b)

Sol.
Sp = 100—-Loss

_ 100
"= %8000
100

= 3/4 x 8000
= 6000

x CP
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$107. Ans.(b)
Sol. LCM of 4, 6,12, 15 is 60

$108. Ans.(a)
Sol. 180°

$109. Ans.(c)

Sol.
D C
A B

AB = BA, BC = AD and <ABC = <BAD
So, AABC=ABAD

$110. Ans.(c)

Sol.
By Pythagoras theorem:

= (Hypogenous)?= (Perpendicular)? + (Height)?
Option 1:

20 cm, 22 cm, 24 cm

Or, 242 =222 + 202

Or, 576 = 484 + 400

So, 576 not equal to 884
Not Satisfied.

Option 2:

15 cm, 32 cm, 37 cm
Or,372=152+ 322

Or, 1369 =225+ 1024
Or, 1369 not equal o0 1249
Not Satisfied.
Option 3:

11 cm, 60cm, 61lcm
Or,612=602+ 112
Or,3721=3600+121
S0,3721=3721

Hence Satisfied

Option 4:

19 cm, 40 cm, 41 cm

Or, 412=402+ 192

Or, 1681 = 1600 + 361
So, 1681 not equal to 1961
Mot Satisfied.
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S$111. Ans.(d)
Sol. All the given options are the characteristics of objectives of Mathematics teaching in classroom.

$112. Ans.(c)
Sol. Reliability

$113. Ans.(d)

Sol. All the given options like Accuracy, Certainty of result and Originality are the characteristic of
reasoning in Mathematics, but only option (d), which is Subjectivity is not the characteristic of reasoning
in Mathematics.

S$114. Ans.(a)
Sol. Mathematics develops mental process of students in school.

$115. Ans.(b)

Sol. An interactive whiteboard, also known as interactive board or smart board, is a large interactive
display board in the form factor of a whiteboard. Interactive whiteboard is particularly most useful for
teaching graphs and geometry.

$116. Ans.(d)

Sol. The process of determining the causes of educational difficulties is known as educational diagnosis.
The scope. of educational diagnosis is much larger than the use of. tests and examination. Other
Definition- Educational Diagnosis is made of Formative Assessment, observation, and diagnostic tests.
Besides observation, the purpose of the diagnostic test in education is to assess the current state of a
student's progress in a particular area.

$117. Ans.(a)

Sol. A lesson plan is a concise and organized structure which provides answers to important questions.
Questions about how a teacher can maintain a standard pattern of teaching. A lesson plan is a teacher's
detailed description of the course of instruction or learning trajectory for a lesson that they have to
complete in a definite time period.

$118. Ans.(d)
Sol. At all the above levels Evaluation in teaching is important at every stage.

$119. Ans.(c)

Sol. Bloom's taxonomy is a set of three hierarchical models used to classify educational learning
objectives into levels of complexity and specificity. The three lists cover the learning objectives in
cognitive, affective and sensory domains.

$120. Ans.(b)
Sol. Kitty has not understood the concept of place value properly. The teacher should use a number of
manipulators to give her hands-on experiences of learning maths.

S$121. Ans.(b)
Sol. Insectivorous plants are the plants that derive their nutrition by feeding on insects and other
organisms. From the given options Utricularia is an Insectivorous plant.
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$122. Ans.(c)
Sol. Mars is often called the ‘Red Planet’ because it appears in the sky as an orange-red star.

$123. Ans.(a)

Sol. Luteinizing hormone (LH) is an important hormone that both men and women produce. This
hormone is known as a gonadotropin, and it affects the sex organs in both men and women. For women,
it affects ovaries, and in men, it affects the testes. LH plays a role in puberty, menstruation, and fertility.
Hence, option (a) It stimulates Leydig cells to produce testosterone is correct.

$124. Ans.(c)
Sol. Problem solving method gives importance to the mental conclusion.

$125. Ans.(b)

Sol. The force applied by string on an object is known as tension as tension T = mg
Here m is mass of object which is 0.75 kg

G is the gravitational force exerted by Earth which is 9.8
NowT=0.75x9.8=7.35N

Hence the force applied by string on the object will be 7.35 N

$126. Ans.(c)
Sol. -8°R

$127. Ans.(c)

Sol. Chemical formula off Ammonium nitride is (NH4)3N

$128. Ans.(c)
Sol. The monomer of dacron is Ethylene glycol and Terephthalic acid

$129. Ans.(d)
Sol. Somatostatin (SST) is secreted by islet 6-cells and by extraislet neuroendocrine cells.

$130. Ans.(b)
Sol. Electroencephalogram (EEG) This is a diagnostic test that uses electrodes placed over the scalp to
record the electrical activity of the brain, especially the cerebral cortex.

$131. Ans.(c)
Sol. Humans eat plants in the form of different vegetables. They also eat the flesh of animals and fish
products. Hence, humans are said to be omnivorous.

$132. Ans.(b)
Sol. Parkinson’s disease affects the nerve cells in the brain that produce dopamine. Parkinson’s disease
symptoms include muscle rigidity, tremors, and changes in speech and gait.

$133. Ans.(a)
Sol. Upward growth of plant parts, against gravity, is called negative geotropism, and downward growth
of roots is called positive geotropism.
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S$134. Ans.(b)
Sol. Acid rain, or acid deposition, is a broad term that includes any form of precipitation with acidic

components, such as sulfuric or nitric acid (HNO3) that fall to the ground from the atmosphere in wet or
dry forms.

$135. Ans.(b)

Sol. Calculation:

The wave number for the second line and limiting line of H — atom of Balmer series is
For Balmer series:

5= 1 _ L
7=109677 [ — ]
For second line,
m=2andn2=4
101
109677 (; — )
¥=109677 (0.1875)

v=20564.43 cm!
For limiting line,

i

ni=2andnz=co
7=109677 (;—2)
7= L
7=109677 (;— 0)

v

i

The wavelength for the second line of H - atom of Balmer series is 20564.43 cm!

$136. Ans.(c)

Sol. The reaction A8 * 2 + Agmmmmms 2Ag + i gp example of symproportionation or comproportionation
reaction.

It is a chemical reaction in-which two reactants, containing the same element in different oxidation state,
will form a product in which the elements reach the same oxidation state.

$137. Ans.(d)

Sol. Elastomers:

e It may be defined as material that may be stretched by 100% and on the release of the stretching
force it retracts or springs bach, rapidly.

e The term is a contraction of the words elastic polymer. For example rubber, Buna -N, Buna-S

$138. Ans.(c)

Sol. Depth = 10.64 km = 10640 m

Speed of sound in water = 1520 m/s

Total distance covered by the sound wave and echo to reach surface = 2 x depth
2x10640 m=21280 m

Also, Time = Distance / Velocity

So, Time = 21280 / 1520 = 14 sec.

40 | www.teachersadda.com | www.sscadda.com www.bankersadda.com www.adda247.com


http://www.teachersadda.com/
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/

$139. Ans.(b)

Sol. Given, Radius of curvature of concave mirror (R) = -40cm
So, focus =R/2=-40/2=-20 cm

Object is placed in front of mirrou (u) =-30 cm

Image positive (v) =7?

We know that,

11,1
f u v
1 1 1
Or,—==-—-
v f u
1 1 1 —-3+2 1
Or-=———= = ——
w =20 -30 &0 &0
1 1
W al
Or, v=-60cm

The image is formed at 60 cm in front of mirror or on the side of object.

$140. Ans.(b)

Sol. Given,

Acceleration (a) = 9.8 m/s?

Weight of the body = 9.8 N

Since, weight of the body = mg

Or, Mass = weight / 2=9.8/9.8 =1 kg

We know that,
F=mxa
F=1x9.8

F = 9.8 Newton.

Hence, the amount of force required is 9.8 Newton.

$141. Ans.(c)
Sol. The teacher is advised to withhold the demonstration and do it again.

$142. Ans.(d)
Sol. Field trip can provide concrete experiences, assignments and projects for formative assessment can
be given based on the trip and enhance process skills of students. So, statements 1, 2 and 3 are correct.

$143. Ans.(b)
Sol. Multiple choice questions can be prepared from the cognitive and comprehension domain.

$144. Ans.(a)
Sol. All these activities provide a creative channel for learners. These are part of co-curricular activities of
school curriculum.

$145. Ans.(d)

Sol. NCERT Science textbooks for upper primary classes include large number of daily life related
questions which have been left unanswered. This has been done, so that students can seek answer to
these questions by exploring different resources.

$146. Ans.(a)
Sol. As per NCF 2005, the maximum focus in teaching science at the upper primary stage should be on
relating classroom learning and life outside the school.
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$147. Ans.(b)
Sol. According to RTE Act, 2009 the minimum numbers of working hours per week for the teachers is 45
hours.

$148. Ans.(c)
Sol. Organising project takes in a step by step sequence and providing students with directions and
reminders for completing each step will be helpful in achieving the goals of the projects.

$149. Ans.(c)
Sol. In the innovative method of teaching, some new and useful method is adopted.

$150. Ans.(b)
Sol. Showing film, asking to write article, poem or story based on importance of water provide a better
learning experience to students. It also affect cognitive, affective as well as psychomotor domain of child.
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